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a6t out, Yourr homeWork..
w(fgksheet 5
due UWed. .




11/8 - Dividing Radical Expressions
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Simplify by raticnalizing the denominateors
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Rationalize the denominators
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rationalize the dehominators
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HomgWork:

Workshest, 6 /7

dve Weolner day




Carlos enlarged the size of a photo to a
height of 18 in. What is the new width ff it
was originally 3 in tall and 1 in wide?




]
James reduced the size of a triangle to a
height of 3 in. What is the new width ff it
was originally 16 in wide and 12 in tall?
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